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(Elective Course : Commerce) 

ECO-07 : ELEMENTS OF STATISTICS  

Time : 2 Hours  Maximum Marks : 50 

Weightage : 70% 

Note : Answer any five questions. All questions 

carry equal marks. Use of simple 

calculator is allowed. 

1. Define the term ‘Statistics’ and discuss the 

importance of statistics in Business and 

Management. 3+7 

2. (a) Differentiate between sampling and non-

sampling errors. 6 

 (b) What is Dispersion ? 4 
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3. Write short notes on any two of the  

following :  5+5 

 (a) Merits of personal interviewing method 

of data collection 

 (b) Disadvantages of secondary data 

 (c) Objectives of classification of data 

4. Draw histogram for the following frequency 

distribution and hence frequency polygon : 

     10 

Variable Frequency 

10–20 

20–30 

30–40 

40–50 

50–60 

60–70 

70–80 

12 

30 

35 

65 

45 

25 

18 
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5. For the following data, calculate median : 10 

Class Frequency 

0–10 

10–20 

20–30 

30–40 

40–50 

50–60 

10 

15 

30 

25 

25 

20 

6. Explain the meaning of Geometric Mean 

and Harmonic Mean with examples. 10 

7. The mean and variance of 10 observations 

are known to be 17 and 33 respectively. 

Later it is found that one observation  

(i.e., 26) is inaccurate and is removed. What 

is the mean and standard deviation of the 

remaining ? 10 
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8. Calculate Karl Pearson’s coefficient of 

skewness from the following table : 10 

Class Frequency 

50–60 

60–70 

70–80 

80–90 

90–100 

100–110 

110–120 

15 

18 

17 

30 

40 

20 

10 
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 ECO–07 

Lukrd mikf/k dk;ZØe  

(ch-Mh-ih-) 

l=kar ijh{kk  

twu] 2025 

(,sfPNd ikB~;Øe % okf.kT;) 

bZ-lh-vks-&07 % lkaf[;dh ds rRo 

le; % 2 ?k.Vs   vf/kdre vad % 50  

  vad Hkkfjrk % 70%  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA lk/kkj.k dSYdqysVj dk iz;ksx djus dh vuqefr 

gSA 

1- ^lkaf[;dh* 'kCn dh ifjHkk"kk nhft, vkSj O;olk; ,oa 

izcU/k esa lkaf[;dh ds egRo dh ppkZ dhft,A 3+7 

2- (v) uewukdj.k ,oa xSj&uewukdj.k =qfV;ksa esa vUrj 

crkb,A  6 

 (c) vifdj.k D;k gS \ 4 
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3- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

  5+5 

 (d) vk¡dM+ksa ds laxzg.k dh oS;fDrd lk{kkRdkj i¼fr 

ds xq.k 

 ([k) f}rh;d vk¡dM+ksa dh gkfu;k¡ 

 (x) vk¡dM+ksa ds oxhZdj.k ds mís'; 

4- fuEufyf[kr vko`fÙk forj.k ls fgLVksxzke cukb, vkSj 

vko`fÙk cgqHkqt Hkh cukb, % 10 

pj vko`fÙk 

10–20 

20–30 

30–40 

40–50 

50–60 

60–70 

70–80 

12 

30 

35 

65 

45 

25 

18 
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5- fuEufyf[kr vk¡dM+ksa ls ekf/;dk dh x.kuk dhft, % 10 

oxZ vko`fÙk 

0–10 

10–20 

20–30 

30–40 

40–50 

50–60 

10 

15 

30 

25 

25 

20 

6- mnkgj.k lfgr xq.kksÙkj ek/; ,oa gjkRed ek/; ds vFkZ dk 

o.kZu dhft,A  10 

7- 10 voyksduksa dk ek/; ,oa izlj.k Øe'k% 17 vkSj 33 gSA 

ckn esa ;g ik;k x;k fd ,d voyksdu (vFkkZr~ 26) 

xyr gS vkSj mls gVk fn;k x;kA 'ks"k dk ek/; ,oa izeki 

fopyu D;k gS \ 10 
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8- fuEufyf[kr rkfydk ls dkyZ fi;lZu ds fo"kerk xq.kkad 

dh x.kuk dhft, % 10 

oxZ vko`fÙk 

50–60 

60–70 

70–80 

80–90 

90–100 

100–110 

110–120 

15 

18 

17 

30 

40 

20 

10 

× × × × × 


